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1 |EH—8 FaE IR BETEETHRTMRER2405%3 1 13, 100 12,500 A 4.6
2 |EHE-3 THER BT EETKEN 1 2 8 9% 13, 400 12,900 A 3.7
3 |ikF—10 TR MR T/ H8 75%&3 5 37, 200 35,900 A 3.5
4 |BEE-54 PRI | BEE RT3 THS 3%5 46, 000 44,400] A 3.5
5 |FIfR—4 A JEFRE ERFARIT K AR S PR 5 8 8 0 & 1 1 9 15, 600 15,100 A 3.2
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1 [iF—4 KB IF SRFAERIRETZEH 1 8 6 8% 5 04} 21, 600 20,300 A 6.0
2 |[p—5 KB IRFEABIENT 2 S)A8)12 9 1 6 & 13, 600 12,8001 A 5.9
3 |iF—3 KB |RFAERIRETZEH 6 6 6 % 1 22, 800 21,500 A 5.7
4 |ip—7 KB REERIRT 2 Z)A8)112 2 0 6 & 2 4+ 17,900 16,900] A 5.6
5 [iF—9 KB IF SRRRRIFETZEH 2 5 7 9% S 18, 000 17,000 A 5.6
6 [WF—1 KEF  [IRFEABIFRTZHR 1 6 9 4358 5 18, 200 17,200 A 5.5
7 |I—6 KB SREARRIRT R 4 3 4 7% 1 22, 900 21,700 A 5.2
8 [Mf—10 KB IF SREARRMIRT R 3 76 4% 9 6 26, 800 25,400 A 5.2
9 |Wf—38 KB IF SRERRIFRT R 3 0 2 6 % 6 7 34, 200 32,5000 A 5.0
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6 |FEIZ—5 I HNZ BB AN ST KRl A 1 7 7% 1 24, 900 23,500 A 5.6
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CREH)
8 |ms%—3 R FNLRRrE BN KN Fim 4 8% 1 18, 800 17,900 A 4.8
9 |FMZ5—3 I LRSI KN Z 1 1 9% 35, 900 34,200 A 4.7
(& A=A — L)
10 |[man£5—2 T 1 UL FNZ AR AN RN T/ M1 0 438 7 25, 600 24,400 A 4.7
(BiEsh, BAEXD)
(ffifg : 1/ m., ZE=R : %)
o5 A 2 H &
JEAE | K AE M 5 | EBERFIR OWE M o> i {E M R AN T DRSFELA MM | A#hE
M/ ot M,/ m %
1 [itE&5—1 =10 ITHEHTHENFR1ITHEL7535%24% 42, 200 39,000 A 7.6
g1 —3—1]
(EB#UTITHERR)
2 |mIT— 2 e tiE ZEE R HTIT R HIT5 7 5%8 3 3, 550 3,300] A 7.0
3 |[E#—25 R IR ERFHRFRATEE2 6 3%&1 13, 000 12,100] A 6.9
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